

(1) Q No - obtain Maclaurin's series expansion of  $\sin x$  over  $\mathbb{R}$  with justification.

Dr. Sunil Jee  
S.B. College, Ara

or,  
Prove that

$$\sin x = x - \frac{x^3}{3!} + \frac{x^5}{5!} - \dots$$

From Maclaurin's series.

or, Discuss the Possibility of expanding  $\sin x$  as a series in ascending power of  $x$ .

Solu<sup>n</sup>:- Let  $f(x) = \sin x$  for all  $x \in \mathbb{R}$

$$\therefore f^n(x) = \sin\left(\frac{n\pi}{2} + x\right) \text{ for all } x \in \mathbb{R}.$$

Thus for each +ve integer  $n$ ,  $f^n$  is defined in every interval  $[-h, h]$ .

Now, writing Lagrange's remainder after  $n$  term.

$$R_n(x) = \frac{x^n}{n!} f^n(\theta x) \text{ when } 0 < \theta < 1.$$

$$= \frac{x^n}{n!} \sin\left(\frac{n\pi}{2} + \theta x\right)$$

$$\therefore |R_n(x)| \leq \left| \frac{x^n}{n!} \right| \text{ for all } x \in \mathbb{R}.$$

$$\therefore \lim_{n \rightarrow \infty} \frac{x^n}{n} = 0 \quad \therefore \lim_{n \rightarrow \infty} R_n(x) = 0$$

So from Maclaurin's Series

$$\therefore f(x) = f(0) + x f'(0) + \dots + \frac{x^{n-1}}{(n-1)!} f^{(n-1)}(0) + \dots$$

--- for all  $x \in \mathbb{R}$ .

Putting  $f(x) = \sin x$

$$\therefore f^{(n)}(0) = \sin \frac{n\pi}{2}$$

$$\therefore \sin x = x \times 1 - \frac{x^3}{3!} + \frac{x^5}{5!} + \dots - f'(0) = \cos 0$$

for all  $x \in \mathbb{R}$

② Obtain Maclaurin's Series expansion of  $e^x$  over  $\mathbb{R}$  with justification.

Soln<sup>n</sup> - Let  $f(x) = e^x$

$\therefore f^{(n)}(x) = e^x$  for each +ve integer.

Thus  $f$  possesses derivatives of every order for every real  $x$ .

Now, Lagrange's form of remainder for each fixed  $x \in \mathbb{R}$ .

$$R_n(x) = \frac{x^n}{n!} f^{(n)}(\theta x) = \frac{x^n}{n!} e^{\theta x} \quad \text{When } 0 < \theta < 1$$

$$\therefore \lim_{n \rightarrow \infty} R_n(x) = \lim_{n \rightarrow \infty} \frac{x^n}{n!} e^{\theta x} = 0$$

$$\left( \lim_{n \rightarrow \infty} \frac{x^n}{n!} \right) e^{\theta x} = 0$$

Hence all condition of Maclaurin's

infinite exp<sup>n</sup> are satisfied.

$$\therefore f(0) = e^0, f^{(n)}(0) = e^0 = 1$$

for each +ve integer  $n$ .

$$\text{Now, } f(x) = f(0) + x f'(0) + \frac{x^2}{2!} f''(0) + \dots$$

$$= 1 + x + \frac{x^2}{1!} + \frac{x^3}{1!} + \dots$$

for each  $x \in \mathbb{R}$ .

Prove that,

$$\sin ax = ax - \frac{a^3 x^3}{1!} + \frac{a^5 x^5}{1!} + \dots + \frac{a^{m-1}}{(m-1)!} \sin\left(\frac{m-1}{2}\pi\right) + \frac{a^m x^m}{m!} \sin\left(a\theta x + \frac{n\pi}{2}\right)$$

Soln<sup>n</sup> -  $f(x) = \sin ax$

$$f'(x) = a \cos ax = a \sin\left(\frac{\pi}{2} + ax\right)$$

$$f''(x) = a^2 \sin\left(\frac{2\pi}{2} + ax\right)$$

$$f'''(x) = a^3 \sin\left(\frac{3\pi}{2} + ax\right)$$

$$f^{iv}(x) = a^4 \sin\left(\frac{4\pi}{2} + ax\right)$$

$$f^{m-1}(x) = a^{m-1} \sin\left(\frac{m-1}{2}\pi + ax\right)$$

$$\& f^m(x) = a^m \sin\left(\frac{m}{2}\pi + ax\right)$$

$$\therefore f^m(x) = a^m \sin\left(\frac{m}{2}\pi + ax\right)$$

Now,  $f(0) = 0$

$$f'(0) = a$$

$$f''(0) = 0$$

$$f'''(0) = -a^3$$

$$f^{iv}(0) = 0$$

$$f^{m-1}(0) = a^{m-1} \sin\left(\frac{(m-1)\pi}{2}\right)$$

Now, We know from Maclaurin's Series, we have

$$f(x) = f(0) + x f'(0) + \frac{x^2}{1!} f''(0) + \frac{x^3}{1!} f'''(0) + \dots + \frac{x^{m-1}}{(m-1)!} f^{m-1}(0) + \frac{x^m}{m!} f^m(\theta x)$$

Where  $0 < \theta < 1$ .

$$\therefore \sin(ax) = 0 + xa + 0 + \frac{x^3}{1!} (-a^3) + 0 + \frac{x^5}{1!} a^5 + \dots$$

$$+ \frac{x}{m-1} \cdot a^{m-1} \sin \frac{m-1}{2} \pi + \frac{x^m}{m} a^m \sin(a\theta x + \frac{m\pi}{2})$$

$$\text{or, } \lim_{x \rightarrow a} = a\theta - \frac{a^3 \theta^3}{1^3} + \frac{a^5 \theta^5}{1^5} + \dots + \frac{x^{m-1}}{m-1} a^{m-1}$$

$$\sin\left(\frac{m-1}{2} \pi\right) + \frac{x^m}{m} a^m \sin(a\theta x$$

$+\frac{m\pi}{2})$  Proved

Q.N  $f(x+h) = f(x) + hf'(x) + \frac{h^2}{2} f''(x+\theta h)$  find the value of  $\theta$  as  $x \rightarrow a$   $f(x)$  being  $(x-a)^{5/2}$ .

Soln It is given that,

$$f(x) = (x-a)^{5/2}$$

$$\therefore f(x+h) = (x+h-a)^{5/2}$$

$$f'(x) = \frac{5}{2} (x-a)^{3/2}$$

$$f(x+\theta h) = (x+\theta h-a)^{5/2}$$

$$f'(x+\theta h) = \frac{5}{2} (x+\theta h-a)^{3/2}$$

$$f''(x+\theta h) = \frac{15}{4} (x+\theta h-a)^{1/2}$$

$$\therefore f(x+h) = f(x) + hf'(x) + \frac{h^2}{2} f''(x+\theta h)$$

Now, substituting values from above, we have

$$(x+h-a)^{5/2} = (x-a)^{5/2} + h \frac{5}{2} (x-a)^{3/2} + \frac{h^2}{2} \times \frac{15}{4}$$

$$\frac{1}{2} (x+\theta h-a)^{1/2} \quad \text{--- (1)}$$

When  $x \rightarrow a$ ,

$$h^{5/2} = \frac{h^2}{2} \times \frac{15}{4} (\theta h)^{1/2}$$

$$\text{or, } h^{5/2} = \frac{h^2}{1 \times 2} \times \frac{15}{4} \times \theta^{1/2} \cdot h^{1/2}$$

$$\text{or, } h^{5/2} = h^{5/2} \times \frac{15}{8} \theta^{1/2}$$

$$\text{or, } 1 = \frac{15}{8} \sqrt{\theta}$$

$$\frac{8}{15} = \sqrt{\theta}$$

on squaring, we have

$$\theta = \frac{64}{225}$$